
  

Method 1:  using difference in time between consecutive events



  

Method 1:  using difference in time-stamp between consecutive events



  

Deadtime measurements from JLab FADC 250

Method 1:  using difference in time-stamp between consecutive events

Method 2:  by comparing # of lost blocks of events to total triggers recorded in FADC
   (total # triggers obtained from FADC trigger number, not scaler)

Method 1 Method 2

For rate > ~450 KHz, 
DT calculation 
becomes unreliableFor rate > ~450 KHz, 

DT calculation 
becomes unreliable

From B. Moffit's excel sheet, we get max rate = 468KHz for Integration window = 70(280ns)
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